S PEC Fi1LE

ET-PFD100

Frame

Description
This frame is to be used exclusively with Panasonic DLP™ projectors. This mount bracket is to be used when stack-

ing two DLP™ projector units.

Specifications
Dimensions (W x H x D): 655 x 399 x 907 mm (25-25/32" x 15-23/32" x 35-23/32")

Weight: 17.2 kg (37.9 Ibs)

Weights and dimensions shown are approximate. Specifications subject to change without notice.

Parts Horizontal frames . ................... 2 Washer-fitted hex bolts (M6 x 40) ....... 24
Upper pipes . ... 3 Spring washers (M10) . ................ 8
Lower pipes . ... ... 3 Hex bolts (M10 x 140) ................. 4
Upper pipe mount brackets ............ 6 Flat washers (M10) .. ................. 8
Lower pipe mount brackets ............ 6 Hex washers (M10) ................... 8
Washer-fitted hex bolts (M6 x 12) ....... 12 Adjustment nuts (M10) . ............... 4
Washer-fitted hex bolts (M6 x 50) ........ 5

Caution:

e All work must be done by a qualified technician.

e Make sure that the mounting location has sufficient strength.

e Read the mounting instructions provided with the frame carefully before starting assembly.

e There are restrictions on the usage and installation conditions of the frame. For details, please consult the
salesperson from whom you purchased the frame.

e The legs of the projector also serve as the frame legs.

Dimensions
Illustration shows the ET-PFD100 attached to the projector.

655
(25-25/32")
UL
.
-
ok 4 53
I 8
a
r [

al lo 1] 1> 1]
| | u < - Jocomo0||
~| 8 gelges m%v
I 4 E5O=0
| | & f] W | Bms
= r.u
o T o 8 0 I —C 5
N T
et i i

unit : mm (inch)
NOTE: This illustration is not drawn to scale.

As of December 2007 <1>

Panasonic



